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. Writeset i Roster form A = {x : x is an od({ natural number}.
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A = {x : x is a prime number}. http://www rbseonline.com
3. A={xy,z},B={1,2} ?ﬁAﬁBﬁﬂﬁmﬁﬂﬁﬂ‘@Tﬁﬁ@l
Let A = {x, y, z}, and B = {1, 2}. Find the number of relation form A to B.

x* % 1

. =hT Wil Td S |
X" —8x+12 '

4. e f(x) =

= ) 2
Find the Domain of the function f(x) =%h+1-15 :
- SR x* —8x +

5. 240° =1 fem7 & 2% 1)

Find he radion measures corresponding to the degree measurcel 240°.

6. /eé[;lfﬁ) 1 HE T A |

. ~1
Find the valcco of cot[ - 451;].

7. —i U Yiaa™ I &1 |

Find the multiplicative inverse of the complex numbers —i. .

Taking the set of natural numbers as the universal set. Write down the complements of set
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Solve :
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0. 3% 0, = (1) 5 a7 H
‘Write the a, of the scqucnle- .WhOSc nth term are a_ = (_l)n—l gui ' \‘1/

; N .
10/661-2— AR f5g (-4, 3) A w1 =t Y #7 geftarcor T A |
Find the equation of the Line which satisfy the given conditions passing through the points

1
—4 i ~
_ ( ﬁ,3) w1t-h slope . 1
1L (x~5)" +(y-3) =36 AAF ¥R a A= T 1
Find the centre and Radius of the circle ()(--5)2 + (y—3)2 =36. | : 17
' P-mfrc that : cos[%— x}cps [%:— - y) —sin {-}—)‘cl:in (:} - yJ= sin (x+y)
i I , g uE
13, sin x =—= A x o1 =49 AF T w1 http://www.rbseonline.com
Find the general solution sin X =:5_' o, ) | \‘}J

14. T2 + 3% + 5 = 0 T |

- Solve the equation x2+3x+5=0.

. 15. el 9x2 + 4y? = 36 ﬁmﬁi‘éﬁeﬁ'{?ﬂﬁﬁiﬁi‘ﬂﬁ aﬁ@mwﬁmmmm
Fifaa |

_ Find the coordinates of the foci, the vertices, the length.of the Major and Minor ax1s and
| the eccentricity of the elliple 9x? + 4y* = 36. K >
16. e ﬁ e i PIE— .
S
Evaluate 113.1; m 2

a7 /%ER’I—- | |
‘Prove that : sinx + sin 3x + sin 5X + sin 7x = c0s X cos 2x sin 4x. . ‘/-3/
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18. fr=1 arafas e & W 9 it 10 H—

Find the Domain and Range of the real function— )

| f(x)=\]9-x2 . | : 3

T I ‘ . -
19. (poiy e wd wRafda w2

¥ 1+>i
" Convert in the Polar form (2 1)

20. aﬁﬁm‘twaﬁmmmqanwﬁqum m#n B A pal 9 I H |

In an A.P. if m term in n and the n term is m'where m #n find the p'™ term. -
21. o Rrgt ToieR 3 i pal, qai, 7O AT T FHE: a, b, ¢ B A frg HAT—
If the pt, g™ ' terms of G.P. are a, b, ¢ respectively prove that : i
| - atprt =1 :
22. T A=, 2,3,4 o 14} R={(x,y):3x -y =0, x,ye A} TNARATTH,
T FIR : - : ‘
et A = (1, 2, 3, 4 .......... 14}. Define a relation R from A to A by

-R= {(x, y):3x-y=0 wherex,y € A} write down the :
(i) R @ gy gwEmadt | hitp://www rbseonline.com
Depict this relation using an arrow diagram.
(i) AT
R in Roster form.
(ifi) R =1 9= o IR forat |
. Domain and Range of R.

23,/ neN FRREH 2 -y, x+y et 5 :

. For all neN Ry, x+y is divisible by x + - , _ 4
_/%raftent Frema = TR fafe & 0 — ‘
Solve the system of Inequalities graphmally—
% 5 _ l)r.+y<!3' y>x, x20 ‘
-25.;,@1’1'@%1:[%0! Px+y-8=0 T T@H (i) o=@0E ®9 (i) TEEIE T
(iii) T ETIH & |
Equation of line is 3x+y-8=0., w4
Reduce into (i) SloPe Intercept form (ii) Intercetpt form (iif) Normal form. -~
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Find  the equation of the Hyper bola whcre foci are (0, + 12) and the length of the
tasrectum is 36. 4

27,/ TaSH 93 1 W& w0 fag FIR 6 fog (4, 6, 10), (2, 4, 6) 3R (14,0, -2) F@ B 1
Us:ng section formula, prove that the three points (-4, 6, 10), (2,4, 6) and (14, 0, -2)

/ére collinea. -4

- 287 99 TG A sin x I Sfashers 76 w4 |
Find the Derivative of sin x from first principle.
OR

5.

2x+3
uﬂqﬁqmﬁ

=1 IEHAS I %ﬁ | http://www.rbseonline.com

2x +3
_5 from first principle.

. 294 A={a,b,c,d}, B= {cdc} C=(aye,f} AEARAFA AN (BUC)= (AﬁB)U(AﬂC)

IfA={ab,cd} B={cde], C= = (a, e, f} Prove that Aﬂ(BUC) (ANB)U (Aﬂc)
OR

CaERkRyU= {123456789}A {2,4,6,8), B= [2357}ﬁmﬁaﬂ(AUB) A'ﬂB’
i U= {12345678,9} A = {2, 4, 6, 8}, B

(AUB) =A'NB'.

" Find the Derative of

= {2, 3, 5, 7}. Prove that
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